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GMAT(K-8) OO0 A
GENERAL MENTAL ABILITY TEST
mmsﬁ zi‘a%% m:oqss? mcg
(Questions 1 - 5) (FBne> 1-5)
Directions : Complete the following number BRBIND : B2NRUET TOITVEORNLOT
. . w
series by chogsmg the correct number from Z003RE F0BODZ. 0%, ZIAT O
the given choices. D 2 d
BeedNY, TREOFRRDA,

1. 2, 25, 54, 85, 122, ? 2. 12, 27, 48, 75, 2, 147
1) 161 1) 100
2) 163 2) 102
3) 165 3) 105
4) 169 4) 108
3. 10, 30, 68, 130, 2, 350 4. 5,9,17, 33, 65, ?
1) 150 1) 129
2) 182 2) 131
3) 222 3) 137
4) 250 4) 139

5.3,45,7,7,10,9,?, ?
1) 11,11
2) 13, 11
3) 13,13
4) 12,15
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(Questions 6 — 10)

Directions : Complete the given letter
series by choosing the correct one from the
given four alternatives.

6. —a—aa—ba—a-a
1) abaab
2) aabab
3) ababa
)

4) baaab

8. X—2y_X_Xy-yz
1) zyzx
2)
3) yzxz
4) yxzy

yzzx

OO A
(géoszo 6-10)
TBRWINSD %Jaéidod EJ"O‘:JSOSDT\’@?OCS

TO03RT mgcswm% B0 B FYN
BRLTOB TS JeeINTI), TPEFIRVA.

7. ab_a_ba—a—bb
1) bbba
2) baba
3) aaab
4) abba

9. ppP-q-gp--dq——-pp
1) apaqgpq
2) papapgq
3) pappap
4) papppq

10. e - fgff — h — ghi — hij
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(Questions 11 - 15) (JBnsL 11-15)
Directions : Find the wrong numberinthe  »gossnes . 20553 BerdoH® 23

. . ° o = 135] )
glven seres. xosﬁéojmagl O EBOND.

11. 3,7, 13,19, 29, 31 12. 5,7,12,17, 25, 35
1) 13 1) 5
2) 19 2) 7
3) 29 3) 12
4) 31 4) 17
13. 2, 6, 12, 20, 30, 40 14. 1,3,2,4,4,5,7,9, 11
1) 40 1) 4
2) 30 2) 5
3) 20 3) 2
4) 2 4) 11

15. 1,1, 4, 8, 9, 27, 36, 64
1) 64
2) 36
3) 27
) 1

N
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(Questions 16 — 20)

Directions : In the given questions there
are four groups of numbers/pairs of numbers/
group of letters of which three are alike
and one is different. Find the one which is
different.

16. 1) 14
2) 38
3) 84
4) 155

18. 1

20. 1) DHM
2) TXC
) KOS
) PT Y

R 0

@%ﬁ% 16 — 20)

BRWREA® : 88 TYNTY TINeQ
T,803R0TT Y o3ow ﬁoajéﬁ%fo/ai@e@
ﬁom’émfa/@gdmf MoINY SPIOM
MOPYNTI), IRLD. ARNTY R
2,0T3¢ DESOD FOWOTB/I, BROLTT.
2.0T WIS, afosolmﬁd. QI RN TIY,
EX.

17. 1

19. 1) GOAT
2) TIGER
3) DONKEY
4) DEER
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(Questions 21 — 25)

Directions : The following Venn-diagrams
shows the relationship among the three
given objects. Indicate the appropriate
diagram to show the relationship.

(FZnes 21 -25)

wa&dmio & FINT [T BTN
BINYY BRLTT RT SNV
ROWOPRZ, RRWST. B ROOTIWIY,
BRWRT BOOIRT  WIBY, FRLITOT
SORNYOT MITVER.

& ©f amo

C

O@® @

21. Wild animals, Carnlvores, Tigers
T ab@me?o, ROTRTONED, THONEd
1) F
2) B
3) D
4) E

23. Ladies, Mothers, Gentlemen

SLBONTY, SVONONT?, DTICOIT?
1) C
2) B
3) E
4) F
25. India, Karnataka, Asia

XRTS, TRFET, QTR
1) C

A W N

) D
) F
) B

22. Food, Vegetables, Egg
BT, STFTONW, 8RN

1) F
)
3) D
)
24. Professors, Doctors, Engineers

STRTIC, T, AOBACHTHA:
1) A

W N

) E
) C
) B

N
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(Questions 26 — 31)

Directions : Complete the given analogy
by selecting the correct answers from
alternatives.

26. 2:32::7:243
1) 7
2) 5
3) 4
4) 3

28. 130:120::?:60
1) 50

) 30

3) 64

) 68

30. 2: MDG :: TMH : YIK
) HHD
) HID

3) IHD
) HHC

(géozﬁeéo 26 — 31)

BRWIN : THLTOD TR0 PO
TOOIPT YT TWIY, GOA, NS
mmééosmd TREFTIRDA.

27. 13:?::31:47

29.

31.

1) 19
2) 23
3) 29
4) 31

GKP:TPK::IMS:?
1) SOI

2) RNH

3) ROH

4) SSM

STAR: 0QYQ:: MARS: ?
1) IXRP

2) IXPR
3) 1IYOQ
4) JXOQ
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(Questions 32 - 35) (JBnss 32-35)

Directions : In the questions below, the BREIRY : 33 2UR RRLOS TINASO

numbers in the figures are related. Identify ' « -

their relationship and find the missing 85@‘%7'{@@2605 ﬁoa%ﬁ% TROOTT

numbers in the given figures. ROWOPRZ, ARWRTTI. 85 BOWOPRIZ,
mTYSR, WINTY WD), TRENTIH

xosﬁéﬂ%ﬂmul FOTWLERONO.

5 4 2
32. 180 112 ?
6 3 7 2 8 5
1) 110
2) 120
3) 160
4) 225
5 7 4
33. | 3|15 | 4 8 |2 |1 1 165|3
3 4 5




AR LR A

36 13 13 3 23 17

35.

10
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(Questions 36 — 41) (@%ﬁgﬂ; 36 —41)

Directions : Find the missing number/letter ZREIND : RRLUDS ZPIIRTO 98

. . . . ) O} 2] e
i the given matrices. BN 033, 3TR, FORELRCRO.

3.2 2 4 3.3 4 5
3 3 18 6 8 10
4 4 2 5 12 2
1) 16 1) 13
2) 24 2) 17
3) 32 3) 30
4) 48 4) 35
15| 8 [13

3. [10] 7 |14 39.V P K
11]16| 9 T N G

R L 2

1) 6 1) F
2) 7 2) C
3) 12 3) E
4) 13 4 M

40.M S P 4.2 2 3
I L J 5 6 7
D G ? Q ? F
1) K 1) |
2) R 2) M
3) F 3) G
4) A 4) O

11
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(Questions 42 — 44)
Directions : Choose and substitute the

correct set of signs in place of * sequentially
selecting from the given alternatives to make
the equations meaningful.

42, 7+x2+15% 3
1) =+, —
2) - =,
3) + = —
4) — =, +

R 0
(IR 42 - 44)
RRUWRNA : THLITID  FNETFTIDIY,
OPFTPOFT [PBELD, BRLTVE  OSWT
WD OR MDD, * WNTY TN
3TIeSTLIEB DOLVTTY, TOITE ODNYOTI
&0A.

43. 5% 2% 4% 6

1) + = X%
2) x,=,—
3) x,—, =
4) =, +, X

44, 38 * 34 * 48 x 12

(Questions 45 — 46)

Directions : In the given equation find
which of the following interchange of signs/
numbers would make the equation correct.

45. 36 -3+2=8x4
1) 3and?2
2) +and x
3) 2and 4
4) 3and 4

46. 40-8x2:-6=16
1) 2and 6
2) 8and 16
3) —and =
4) +and-—

@%ﬁ@o 45 — 46)

BRUIAD : TRV TIT FNeTTRT Y
o350 z&éﬁ%/ﬁo&%ﬁ@ém& T TN
DPRTON  FNETTR FOOIPNTITT
ROWOTIZ), FOWIRRNO.

45. 36 +3+2=8x4
1) 35333)2
2) +5333x
3) 233 4
4) 3?3333)4

46. 40-8x2-6=16
1) 2508 6
2) 8393 16

)
) —3B =
)

w

-0

+ 3B —

-0

N

12
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(Questions 47 — 51)
Directions : The following questions are

based on the given intersecting figures. Each
figure represent a group.

Teachers
933M

(JB e 47 -51)

BRWRNA @ 83 FENT TJNO BRLTVT
3BT BT BONI, STPORR. TS &7 303
2,00 TOOTZ, TSI,

Graduates
TIRTTH

11

!

Villagers
5@%7163

47. Find the total number of graduate
teachers from the given four
alternatives.

TTNCPTTD %Wty égﬁd 110&'3’23053539z
TRYTIT PO, TTY0INPOW
FOTLROWD.

1) 12

2) 13
3) 20
4) 15

48.

Find the total number of graduates
who are also villagers.

TLNTT 2083y THRCFTT BO3,0307,
BRYTLT TTREBNVOT FOWLRLD.
1) 21

2) 12
3) 15
4) 22

49. From the given alternatives, find the
number of graduate teachers who are

also villagers.

TYNTIT TTREFT 8330 5@:;323033530z
BREITOT TTRERNPYOT FORERROWD.

1) 7
5
8
1

W N

)
)
)

N

0

13
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50. Find the total number of graduates

from the given four alternatives.
L JTWACHTT 50‘9:3’25053530l &ra&édow
OIS améoﬁne?ocs FOTREROWD.

1) 35

2) 30
3) 22
4) 13

(Questions 52 — 56)
Directions : Read the following questions
carefully and find the answers.

52. Present age of father is 28 years

53.

more than his son’s age. Father’s
age becomes 2 times of his son’s
age after 20 years. Then what is the
present age of the father ?

1) 36 years
2) 38 years
3) 48 years
4) 28 years

A, B and C are cloth merchants.
Merchant A visits a village once in
two days. B visit the same village
once in 3 days and merchant C visit
the village once in 4 days. If they all
visit the village on Wednesday, when
do they come again (on what day) to
the village ?

1) Sunday
2) Monday
3) Tuesday
4) Wednesday

14

51.

Find the total number of teachers
from the given four alternatives.

283 ég o} ﬁoﬁéo&abez &ra%d:s SESH)
wméoﬁr{@ocs FOTHLROWD.

1) 13

2) 14
3) 23
4) 26

[3;ns 52 - 56)

BRWNA : B3 TIN BRLWTVT TJ NIV,
NEOTRE), Lh. TSRO IJFNW
VZTHTY, FOTWIROWD.

52. 1 B0Tckh bR TS FoHUNOS

53.

28 =_Js ézgd. 20 IJ/FRY To3T
30T O 5033390 =ons SOSD%{)E’
2 d“w@scsﬂ, 3000 ;NS [ODE T, ?

1) 36 TRENRWD
2) 38 JIRFNL
3) 48 IRFND
4) 28 ITRFND

20T TYORT, A TRTROID T3
ms&%ﬁsg Bmsmaom 3 asm&d{g
2 C msmaom 4 635%.@&5;& 3eed
DCTTIT. TOMRTWT WFTRT & ae%ﬁ
Bt ART 3 W mémamfo 2
O30 RT LIT3e a%ﬁ 3 DeTHT ?
1) 200=T

2) ARCTVTT

3) VONF=0T

)

4) 20P=0
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54.

55.

56.

Today is Sunday. What day will be on
the next 45" day ?

1) Monday
2) Tuesday
3) Wednesday
4) Thursday

A, B, C, D and E are students of
different heights. A is taller than B
but shorter than D. C is taller than B
but shorter than A. E is shorter than
B. If they all stand according to their
heights what will be the order ?

1) EBCAD
2) ECBAD
3) BECAD
4) DCABE

Q is father of P. S is son of R. But R
is only daughter of M. If Q and M are
parents. How ‘P’ is related to S ?

1) Brother

2) Grandfather
3) Brother-in-law
4) Maternal uncle

15

54.

55.

56.

RBOTH LPOTOT. WO 453¢ AN
AR TOTTNTLIT ?

1) AReVTT

2) WONYTT

3) 20PWT

4) MOZT

A, B, C, D3 E 90 033 28 ag@@g
é)mz@?m*o. A O3 B No3 agdmﬁw%
DNOZ 25350, C oo BNOZ 3TNy,
ANC3 zsgm. Ecio BNO3 zs%ﬁa%:. R
&sz@?m%a agdzi&%:r{:samﬂ Q03T Fed
2R [THIW ?

1) EBCAD

2) ECBAD

3) BECAD

4) DCABE

QY PD 30%. S RS 21N, TS Red
M= mg@e SO, QB MTTh 308
S00WNTITRS P B0 SR Serd Zowod ?

1) RINRCTT

2) 203

o8}

ARETT 0w

g

)
)
4)
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(Questions 57 - 60) (JBnL 57 - 60)

Directions : Identify the number of specified BRWEIAY : BYR BROIS BERTO

geometric shapes in the given diagram and ' e g %

mark the correct answer. RS 2332@33033 @5@371%3 5053503353&
TOWHRT, YOITHIY, MITISR.

57. Find the number of triangles in the 59. Find the number of quadrilaterals in

given figure. the given figure.
%reéép;w es%éoﬁae?ﬁdas %Wt SPENS &ra&édow @%éoﬁbgdad WBLRETINYG
ﬁo&%oﬁamgz FOTHEROWD. 30936 @@ﬁ ?
1) 12
2) 11 5
3) 13 2) 7
3) 4
4) 6

4) 14 \/

58. Find the number of rectangles in the 60. Find the number of parallelograms in

given figure. the given figure.
BRI BFI0DYTLT 2td) BoLINE BREITHT ©F30PYTOT FWR0IT
50936 QY ? BTN zog%os:ssq FOTDEBOWRD.

w

N
~— N N S

20 1) 17
19 2) 18
18 3) 19

) 20

L] /
[T /

N

16
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(Questions 61 — 65) (@%ﬁ%ﬂo 61-65)

Directions : Inthefollowing given questions, ZREIRD : 35 2OAS TINATO 2,00

a word is written according to some code. ' — 4o

How can the given other word be written wwwm& AROYeEE maﬁo&s@ WTBORTRNT.

according to the same code ? wde WOoFeST FORONY FRWTIT
YRROT [T, IJert LTOWTT

@owzﬁabol FOTWILRONO.

61. MATH is coded as OZVG in certain 61. MATH @mez 20T ?J@E"aOSJQ 0ozVvG
language. Then TEST can be coded 20T XoBe32T3, wde ?476&’3033@,
as TEST &=, Ier "odedBuTTH ?

1) VDUV

2) VDUS

3) UbVU

4) VDUT

62. If ABC is coded as 6. EFG is coded  62. 2..0m> Foge3w Tz ABC w3, 6
as 210 then JIM can be coded as D0, EFG e"’ﬁiz 210 005 2333 JIM

e.-osagl et WBOHWTT?
1134

1132
1710
1170

63. If ARSIKERE is coded as ZSRJJFQF, 63. WOTN TO%C3IT gﬁd ARSIKERE @mez
then TIPTUR can be coded as ZSRJJFQF 20T w353 TIPTUR 9=y,
%R LB

17



GMAT(K-8) N O A

64. If CAT can be coded as 576 then DOG 64. CAT @5301 2O ToFe3T TFOT 576
can be coded as 20T WITS DOG i, wtde FodeI
TFOT e WBOBWTHT

65. If GENERAL is coded as ENERALG 65. GENERAL @mez WOTWY ToBeTn
the ABILITY can be coded as gﬁd ENERALG 205 23338, e
D033 §ﬁ6 ABILITY e.-Dabel &en

QBORWIOT

LIBITYA
LIBITAY
LIBTIYA
LIBIATY

1
2
3
4

~— S N S

18
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(Questions 66 — 70)

Directions : The following questions are
based on the series of figures. Complete the
series by selecting suitable figure from the
given alternatives.

DL i
(TBnL 66 —70)
RSN @ B3 IINT JIJNd wWen¥
Beedodhb, TBRODE. ERYLR TTRODNPOT
RPTZOW WIHIY, GO JLEFORIY,
TROFRRDA.

2 o [0 Al [A =
66.| — — — ?
O Al [+ Ol o <
A R O +
| = | =
—s «—
0 <+ A O
o A E +
—> <«
3) | = 4| =
4+ m A<—o
A A
< (°) > ?
67.
v v

A
@9
\
A
€9
\

A
D,

\%
SIDL



GMAT(K-8)

oM A|A OB Al 5
A
g apm
oA O o4 L
7 N
/>j )\\ /
69.
Al N A
7

2)

N
N\

4) NC N

20
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°
70. 'T" © - © <1
o °
o °
1) > 2) s (O
o °
5| (=] 4 .F 0

(Questions 71 — 74)

Directions : In the following questions, a
sheet of paper is folded and punched it is
shown by figures. If the paper is unfolded
how does it appear ? Select the answer from
the alternatives.

(ZZnes 71-74)

BRUINL : B3 FTINT IJINYY oW
T TOTOD, DR TOP TPRTLPYTR,
WINY ROT SPCOAT. TFOT,
DRATRN BT HeR TEIRITI eboe,mf);’nol
&@éépoa SDIOM wméosm@od 6303%
IR,

0o
—
1 o
71. |
@) @) o)
OO0 00
1) 00 2) 00
@) O 0]
O 0 o
3) © 4) 7 °
o
0 (0]
O (0] (0]

21
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74.
(e]e)
O OO0 O (e)o) (o)
1) O O O O 2) (O} ®)
(@]O)

[eJe
oo
(o))
(o]e)

73.

o]0)
(oY)
oo
oo
e]°)

OO

o
o
o

O
O
o

22
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(Questions 75 — 77)

Directions : In the given each question,
there is a figure to the left of mirror indicated
by lines and its images are given in the right
side of the lines. Choose the correct mirror
image of the figure given left side.

DL i
(ZBnes 75-77)
RRUIN @ LI T03R0T JINYY
TeB0D DTWRNATIT  WST  TTF 0
TEVOWNTI), WOLRNTY  FRTBEONT.
DBPNATOWST 83T TOOT  TIF D
TSROLWTZ, BT T, TI,CHNPOT
Slevibwole

_|lpalilaallaolloalad
IR SIS R|A 22 A|sH
1) 2) 3) 4)
o X| %! X|[% X
) ENISIIENE e
2) 3) 4)
S

2)

23
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(Questions 78 — 81)

Directions : In the following questions,
a part of the figure is missing. ldentify the
missing part from among the four alternatives

given under each question.

78.

79.

.0\2

OBV

2)

4)

000 0
(B3> 78 -81)
RRUIN @ 3RWHE IJNYY, w3 oD
2,00 GRN TREBF TONT. LTI, FSOLLOTD
THOD TN BRI T, TOCDRAYOT
OTFOR BOTLRTWD YOZOA.

80.

81. %
?

A4 Wi

24
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(Questions 82 — 85)

Directions : A sheet of paper as shown
in the figure is folded to form a cube. Find
the opposite faces in cube and answer the
questions.

2. | B | (®

83. | 1 21 3

25

000 0

(JBnss 82 -85)

TRWIND @ WBBTYWTOS YWT FNTT
m@oﬁo@ TN TGS YVOLRIT.
OTTYT VPJNDTOT  BJRADNTIY,
TOLRD B FYR FeYTLIT  TJNON
ROTPT  YLITJI), 4 TTORNYOT
603% =B

The face oppositeto[____|

|:|fac$€é WY TPDTIT =D
SRR 9

1)@ 2)@
3 B 5 D

Which face is opposite to 6 ?

6% LPTNNTOT 0D O3V ?
1) 2 2) 4

3) 3 4) 1
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Which face is opposite to @ ?
84. @ @f&d% EHPTINDTTOT W08

TRYT 9

1) 2) A&
A 5 @ %

| D

&

85. A dice is thrown four times and its four positions are given below. Find the face
opposite to 3 from the given alternatives.

20T me;m% 4 3300 NBCHSINT DI WTT TR, m@ﬁﬁ%ﬁ SRCOZSINT.
lntsleln] 3% 9T 0T maswmel 56%03371@?053 FOTLROWD.

3 2 4

6

N —
il \ ST C) BN

\‘E\CBVV

26
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(Questions 86 — 89)

Directions : In the given each question,
there is a relationship between first two
figures. The same relation between the next
two figures, but one is missing. Find the
missing figure from the given alternatives.

1) ‘ 2)

86.

87.

0V RO
(IR 86 - 89)
BRUEIND : B3 FYR ERLITHT TE0LOT
TI0NYT JRTO HTB 8NN
TOWOPRNTI. QTE FOWOT I0OSTT DT
S INIOT, OTW) ERLDHDY. BRI
TTODNYOT T, TOWELROWD.
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88.

89.

AB.
C D|°

O >
QoM

ol

I U

Qu

I U

Gm
T T

aom

I

Ouw

.

>4+ b4+ |©F
0| |po| BH

O+ D+

4)

op > (e

28

. ?
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(Question 90)

Directions : In the given question, there is
a figure above the line and its water images
are given below it. Find the correct water

image the figure from the alternatives.
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Instructions to Candidates

1. The Question Booklet containing 90 questions and the OMR answer sheet is

given to you.
2. All questions are compulsory, each question carry one mark.

3. During the examination,
* Read the questions carefully.

* Completely darken/shade the relevant oval against Question No. in the OMR answer
sheet, using blue/black ball point pen. Do not try to alter the entry and not to do any stray

marks on OMR Sheet.

* Ex: Inaquestion paper if SlI. No. 3 is the correct answer for Question No. 20, then darken

in OMR answer sheet shade circle 3 using blue/black ball point pen as follows.

2. D2 @ @ (This is an example only)

4. If more than one oval is darkened for a given question, such answer is treated as wrong

and no marks will be given.
5. The candidate and Room Supervisor should sign in the OMR sheet.

6. Candidate should return the OMR answer sheet only to the room supervisor before

leaving the examination hall.

7. The calculator, mobiles and any other electronic devices are not allowed inside the

examination hall.

8. English version of the question paper will be considered as final, in case of any dispute

arising out of variation in translation version.
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1.

3.

4.

PHYSICS

The displacement of a satellite, if it
completes one revolution in its orbit
of radius ‘r

1) 2r

2) 0
3 /2
o ¥

Direction of motion changes
continuously in

1) Uniform circular motion

2) Non-uniform circular motion

3) Vibration motion

4) Variable motion

The resistance to change the state of
motion of an object depends on

1) Area of an object

2) Volume of an object

3) Shape of an object

4) Mass of an object

The unit of momentum is
1) Kg m™

2) Kgs™

3) Kg ms™

4) gms™

PP3TR
)

. WOTh ORABR T Y 8§D

WOTH WD TOLPDATRN &WT
ML

1) 2r

2) 0

9 /2
9 7

. BOTCH DB, FIIToN WRGRHBHHT

1) 28068 80D WO

2) DBOCEODYT B[ 8o BV
3) BOTJI BOI

4) FBROITHLT RO

. 2.0T® m:sm BONO®H Néoﬁﬁa

udmo&mw WS 8.@@;3
TOOWIOINTOR)T.

1) [AVT QACERE
2) FWIT FIFO
3) TWNT ©FT
4) TAWIZ T0d

. DORNT NTRWT

1) Kg m™
2) Kgs™
3) Kg ms™
4) gms™
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5. The equation used to calculate the

force acting on an object is

1) F=m-a

2) F=mxa

3) F=a/m

4 F=m+a

. The average velocity of an object if it

travels 10 m in 3 seconds and further
15 min 5 seconds

1) 6.25 ms™
2) 0.625 ms™'
3) 62.5 ms™

4) 625 ms™

. The Kinetic energy of a body depends
upon

1) v

2) V3

3) WV

4) V2

. The nature of image when object kept

between optic centre and principal
focus of a convex lens is

1) virtual, erect and diminished
2) real, inverted and diminished
3) virtual, erect and enlarged

4) real, inverted and same size

5. 2,000 TEAT $ed b WO YRS,

FOTLROZNT BEWCTTED
1) F=m-a

2) F=mxa

3) F=a/m

4) F=m+a

. 20T TR 3 2E0RRY 10 e B3O

erie siéo@?sg 15 0¢ 2393, 9T
Boex0 Jen

1) 6.25 ms™
2) 0.625 ms™
3) 62.5 ms™
4) 625 ms™

. 200TH szgm aﬁ@&z’sg

OTOONTTNTORH T.
1) W
2) Ve
3) YV
4) V2

. TR N TIET Wy3deoy

Y TR TONNT TR [N
UVOLRMDT T[SWOWT BRER)

1) 0T, Fe3 B PNHIT

2) B, TSI D DI

3) WGP, BT WY BRTTIONTOZTI

4) ééas, SFBYMOT I wTe
SAclewlaplplentcia
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9.

10.

11.

12.

A star which is twice as massive as
the sunis

1) Rigel
2) Betelguese
3) Sirius

4) Arcturus

Formation of elliptical galaxies are
due to

1) Collision between smaller spiral
galaxies

2) Collision between Meteors and
Asteroids

3) Collision between Planets and
Comets

4) Collision between Stars and
Planets

Big Bang Theory was proposed by
1) Christian Huygen

2) Galileo

3) Copernicus

4) Edwin Hubble

The speed of rocket increases
1) as it escapes earth’s gravitation
2) as it exceeds escape velocity

3) as acceleration due to gravity
changes

4) as mass of the rocket increases

10.

11.

12.

BROPF ITWIP TF00d BRONTHLS
%3

1) oere®

2) 2ee3eF N

3) 2000

4) @#Fmédxe
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1) a§§ a%§ TP 03PFTT ﬁ@z}ﬁ@
@@o&oocﬁ

2) eme% S\eh] gag@&ﬁeé mgp
@%éosaod

3) N®ENY 533_30 FPRFCINY wcgp
@8;&033053

4) 53@ m?g nEnY wcsgp
@@o&oocﬁ

ant méone Eow%oswﬁa&

T2TRRATRT

1) 35007 IR

2) RO we

3) 3RTIFTX®

4) QBT TWS®

ToELF WRR) %aagrb@ds

1) BRIWOD MIVINOT  DBREB
DTN

2) QVReWTD FenBWY, WedTIR

3) T ﬁemwfir@
WTOWTHBOWOT
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CHEMISTRY SEECHEELY
13. The percentage mass of Oxygen in | 43 H,SO, 5@2 eﬁ?g%ﬁ%d 3033 gﬁsmé
H, SO,
1) 32.65
1) 32.65
2) 2.04
2) 2.04
3) 65.30
3) 65.30
4) 69.38
4) 69.38

14. Element used in the preparation of | 14. D.D.T. 30350030 WY 0B

D.D.T. 1) Rocs
1) Sulphur 2) &QGGW
2) Chlori
) orine 3) o3
3) Phosphorus
4) BRLINT®
4) Bromine
15. The equation represents 15. SOTOCRAT é)z;uéoﬁaﬁool TR
decomposition reaction TWCTTED
1) NH, + HCI - NH,CI 1) NH, + HCI - NH,CI
2) Zn +H,S0,—»ZnSO, + H, T 2) Zn +H,S0,—-ZnSO, + H,T
3) NaOH + HClI—NaCl + H,0 3) NaOH + HCl—NaCl + H,0
4) 2HgO—2Hg + O, T 4) 2HgO—2Hg + O, T
16. In SO, the valency of sulphur 16. 30366 nop3s RSB
(%] ~
1) 6 1) 6
2) 4 2) 4
3) 3 3) 3

4) 5 4) 5
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17. The element which is not an ideal 17. BEAVTVT o
2
9as 1) SMOFS®
1) Argon
2) 33T
2) Kripton
3) BpeTox®
3) Boron
4) DOIPT
4) Neon
18. Match the following : 18. BR012 WB0WO :
A. Electron a. James Chadwick A. eada@sae a. aé’cwsf) LRTEENTE
=
B. Proton b. J.J. Thomson B. 3pctRs’ b. 2. . PoHT®
C. Neutron c. Rutherford C. ms@ae C. DT PR s
D. Nucleus d. Goldstein D. 2ewdeon d. Rece® Jew®
1) A-¢,B-d,C-b,D-a 1) A-c,B-d,C-b,D-a
2) A-d,B—c,C-a,D-b 2) A-d,B-c,C-aD-b

4) A-b,B-d,C-a,D-c 4) A-b,B-d,C-aD-c

19. After balancing the equation the 19. :3533@%6:@55:4 [OWRNAT 03T 0,
coefficient of O, DTMOET
KCIO, > KCI + O, KCIO, > KCI + O,
1) 3 1) 3
2) 4 2) 4

3) 2 3) 2

4) 1 4) 1
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20. Reduction reaction means
1) Loss of electrons
2) Gain of electrons
3) Addition of oxygen
4) Removal of hydrogen

21. The compound which causes
acid rain
1) HNO,
2) Na,CO,
3) Na,SO,
4) CuSO,

22. Rutherford’s experiment fails to
explain the
1) Size of the atom
2) Neutrality of the atom
3) Stability of the atom

4) Shape of the atom

23. Chemical used to prevent

decolourisation of dried fruits
1) CI

2) Na,CO,

3) NaHCO,

4) SO,

20.

21.

22,

23.

VDTTREO 30 QOTT

1) faeﬁa@a@mﬂ% TITIRRR)T
2) a@&e@ﬁmﬂ?&l CHAIANEACESEY LAY
3) SIRRITII), FHCORYT

4) BOTITII), SROIVT)T

TR TTLOTOT BOAsNF
1) HNO,

2) Na,CO,

3) Na,SO,

4) CusO,

TOTT PR T TdRCnm) 33 @oswsael
NWOTELD APOTOW.

1) TOTPERIT Mg,

2) BRIV Sésﬁgpesdsa

3) TTRIVERNS %{p@é

4) TORJPENNT T

200 TEQPAY 269 TRWIHTY, 3céneien
WSTT TITORAT

1) ClI

2) Na,CO,

3) NaHCO,

4) SO,



SAT(K-8)

24.

25.

26.

BIOLOGY

The reproductive part of
Bryophyllum

1) Spore

2) Leaf Bud

3) Stem cutting
4) Seed

In the given food chain, the amount of
energy at Fourth trophic level is 5 kJ.
The energy available at the producer

Grass — Grasshopper — Frog —
Snake — Eagle

1) 50 kJ

2) 500 kJ

3) 5,000 kJ

4) 50,000 kJ

The matching of the part of the cell
and its common name

A. Gateway of the 1. Chromosome
cell

B. Solar panels of 2. Vacuole
the cell

C. Packages of
hereditary

3. Chloroplast

information

D. Storage room 4. Cell membrane
of the cell

1) A-1B-2C-3D-4

2) A—-4B-3C-1D-2

3) A-3B-1C-2D-4

4 A-2B-4C-3D-1

24,

25.

26.

z%cﬁmi
WRLPORFT HoZeRdee3 0 BN
1) QEITVEN

2) @& Iy

3) TOTBT oon

4) Qe

$RYDHT ST FTTVDHY eI
FecRm ZOBQ 5 kd MUy
BEONTN WIS 3050

LY - WBE - TR -5 TR —
=ch

1) 50 kJ

2) 500 kJ

3) 5,000 kJ
4) 50,000 kJ

BeTERTT (RN ) WYY mmss
RTOX Bpowmecdd

A. BeT3RC3T 1. [E30»
RRTLVND

B. 23330030 2. 3T
ﬂadmgﬁmﬁo

C. ¥TT0deed 3. 3QCTRCTREY,
S50 I0n BOZ

D. 2e=ERe3n
Bonmrs sR3R

1) A-1B-2C-3D-4

2) A—4B-3C-1D-2

3) A-3B-1C-2D-4

4 A-2B-4C-3D-1

4. 3RC3JRT
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27. During swallowing the food, entry of

28.

29.

food particles into the wind pipe is

prevented by
1) Epiglottis
2) Pharynx
3) Alveoli

4) Bronchus

Humans fore limbs are shorter than
hind limbs, so they are classified

under

1) Order primates
2) Class mammalia
3) Phylum chordata

4) Family Hominidae

The correct statement regarding

yeast

1) The cellwall is madeup of cellulose
2) They belong to kingdom monera
3) The cells are Eukaryotic

4) They reproduce by sexual method

10

27. esmdwsaoz oo, BTOTH

28.

29.

BEONE TYTOTERY, T3edWRYTRY,
SRR

1) QMRS

2) NOL3EN

3) @%oi@ee%

4) eROBF

RWRIRIT TOOMRLINEL 2ORCINPNOS
BIETINTIPYTOOT WYL, 1Y
SINeETORSINT

1) 3 dees neog,

2) FAY 571?%6

3) TOTWF LD 505§

4) BRCVITB sawow%é

o:)omjsﬁ ﬁowoc;’wégsoé 50030
e

1) 3ReTYPS0IN ﬁeoéefwevébow
BRRT

2) 9 [RJTY TWRRE X0
3) omfmé@oﬁmws@ ReWBRESNTONTD

4) S,0N% DedoNY RoZIRTE
SRBIH
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30. In an Amoeba the part of the cell that

31.

32.

controls all the metabolic activities
1) Nucleus

2) Food vacuole

3) Contractile vacuole

4) Pseudopodia

The correct combination of
messenger proteins in our body

1) Keratin and collagen
2) Pepsin and Lactase
3) Trypsin and Lipase

4) Insulin and Haemoglobin

The advantage of growing chilli plants
between two rows of green gram
plants.

1) Chilli plants are protected by the
shade of green gram plants

2) Nitrogenous compounds prepared by
green gram plants can be utilised by
chilli plants

3) Chilli plants get water from green
gram plants

4) Chilli plants are protected from
pests in the presence of green gram
plants

11

30. ©NeRT 8@5%@@56;2 DR

31.

32.

WBO30TWOD gosmessa& QOHOSTOT
won

1) 3we3deoy
2) %00 TR0
3) TOBWZ THR

4) é)ac%mcﬁ

N3, BeTTYLT BodeToTs
BRI NY TOCIRT WEReRM»

1) 30088 0B FRUVET

2) B BB emsgmé‘

3) BT [P SFHer

4) aROT DB LRRETIREVT

BHToedee 380 TR Towons? STl
HEORT NRERTRY, WLcoPTOOT BT
TRlReES

1) B eed NIRY FTLSY
eoad NBRE T3 TFo

2) TRV e WAL ¢3S
DIV @@i@)ma@ xoofmiﬁ%?mol
WRRIT NTBALD w@%}%@@ggﬁ

3) TR 86 NTBNLOT =0T
ABNO @edm‘i wcéo:’mgﬁ

4) TID e ABNY
QTRNBONOTON LRI NBMLD
NWTTT BeLNPOT TS
TWOINSH
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33. The resources formed due to earth’s

34.

35.

geological processes
1) Coal

2) Natural gas

3) Minerals

4) Petroleum

Since Humans have large cranium

they belong to genus
1) Homo

2) Hominidae

3) Sapiens

4) Primates

The primitive forms of life obtained

energy by

1) The fermentation of Inorganic

compounds

2) The discharge of electrical charges

due to lightning
3) The ultraviolet rays

4) The fermentation of organic

compounds

12

33.

34.

35.

A O 0t
BRANPE TZOIHNLOT VO
sowme@
1) 39T e
2) SRNFT IO
3) DJWN

4) BLBRLACNO

TIRTRTY NTVOTT %m@ﬁﬁoez
BRONTLR)TOOT QYNed FeoTH
brl)

1) BRCTRE
2) TRCNIT

-9

3) NwOf’)D&:

4) B30

STRRES N JIODTY,

BB ST

1) ATBONT FANRY
BITOMORFN0T

2) N0WA0T YVOERT 535332339
3530300

3) 3ceTY0EeT JTLONYOT

4) TRDONT [ANE
TITMOIRFCN 0T
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36.

37.

38.

HISTORY

Read the following statements and
choose the correct alternative.

A) Meharuli’s Iron pillar and
Vijayapura’s whispering
Golgumbuz are the evidence of
the maturity of then science and
technical knowledge.

B) The Monuments of Nalanda and

the architecture of Madrasas built
by Gawan in Bidar narrate the
importance given to education
during those time.

1) Ais true and B is false
2) Both A and B are true

3) Ais false and B is true
4) Both A and B are false

In India, the relics of the hunting and
food gathering humans are found in

1) Lothal, Karnool and Mehargarh
2) Mathura, Banavasi and Kadapa

3) Bimbetka, Hunasagi and Karnool

4) Talagunda, Amaravathi and Kanchi

According to the Rig-vedic compilers
wealth means

1) House, Land, Cows and Gold

2) Palace, Soldiers, Camels and
Horses

3) Horses, Cows, Camels and Sheep
4) Gold, Land, Sheep and Agriculture

13

36.

37.

38.

RSTOR

$9NS YU, WO FookRT
sehReRs, RR :

A) HTTRICH ¢VIT Foys DI
DEEHTTT e 83T
JTRIT SenmSned
& POTYS am@ﬁ 02y
B0 ST HeTIN [ CIRNGI.

B) S¥onTOTE mTTNA I
RETOITY Ne® TJAT SHTWTH
STREBON WORT FOT %g £33
HTY, T3

1) AZO DD B IR

2) ARZ) BHTBRR RO

3) AT I B IO

4) AR BATRER 3T,

$e03RY Beed T wTT ToRTH
SRR udo#ﬁaez TNTST mma%d
BDTLIONE OPFTNTE :‘éeérw:
1) SRETCF, IIRFST D

W eacsien =
2) ROTT, TR DB IEH
3) a‘ﬁoaﬁe@%, VBN B FIPF S
4) SOYTIOT, WIVTOWS W) TOW

IPRET TUTFTT FROHY TOT,

NOTW3

1) 20T, LR, JINLD BB
Alelaple]

2) T, ﬂéaﬁdo, WOWNTL 3
BTVTN -

3) BDTVTNL, TROND, 20N
2B BONED

4) 033, PR, WONH W3

9.
Ge)w



SAT(K-8) N O A

39. The symbolic script with small | 39, ‘&meﬁég,ai’ NOW 55?@ zagsaz{eéﬁoel

drawings called ‘hieroglyphics’ was L¥RROR Hoded Don,
WSTITIT

used by -

. 1) B30T,

1) The Egyptians wTa
2) 23eQ0NT

2) The Chinese
3) NETTD

3) The Greece
4) d@em@cﬁo

4) The Romans

40. SR ARPRTY FBeLRODT T
Q0TT

1) RITBRIL
2) DVIOTLNEFND

40. The Patricians in the Roman society
were

1) The common people
2) The artisans
3) The soldiers 3) ﬂe@fdb

4) The elite 4) TSI

41. seynmnm‘i DOO3T JO3eOD
emgdmmoaﬁ RO0N.

41. Match the following and choose the
correct alternative.

1) Kundala Grama a) Mahaparinirvana 1) ﬁé%@w a) W?EF Sz
in Vaishali of Buddha WOBO MEH TORTEE
2) Pavapuri b) The first sermon 2) IO b) BT SeTO
of Buddha BREN
3) Deer Park in  ¢) Nirvana of 3) STTHFS C) SHOTONETE
Saranatha Mahaveera 20% NN QD
4) Kushi Nagar  d) Birth of 4) % SNT d) TNCTT
Mahaveera &I
1) 1-d,2-b,3-a,4-c 1) 1-d,2-b,3-a,4-c
2)1-c¢,2-a,3-d,4-b 2) 1-¢,2-a,3-d,4-b

3)1-d,2-c¢,3-b,4-a
4 1-b,2-d,3-c,4—a

3)1-d,2-¢,3-b,4-a
4)1-b,2-d,3-c,4-a

14
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42.

43.

44,

45.

‘Devanampriya Priyadarshi Ashoka’
appears for the first time in the
inscription of

1) Maski

2) Brahmagiri

3) Talagunda

4) Sannathi

The ‘Bhogapati’ in council of ministers
of Vardhanas refers to

1) Military general

2) The negotiator

3) Tax official

4) Justice officer

The person who was imprisoned
for selling salt with slogan, “You

buy Gandhi salt and the price is six
months imprisonment”.

1) Kamaladevi Chattopadhyaya

2) Ballari Siddamma

3) Umabai Kundapura

4) Yashodaramma Dasappa

The book “Karnataka Gathavaibhava”
was written by

1) Nijalingappa

2) Narayanrao

3) Kuvempu

4) Alur Venkatarao

15

42,

43.

44.

45.

SR BRTY e0R ‘WeTTeoXew
QONTET W3R QoW YvGeD
FOTHWOTW TIT

1) 303, TOIT
2) WBNO TOIT
3) TENOT TII
4) 33® ZII
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GEOGRAPHY AND ECONOMICS AV OIS 533_39 @5?%3

46. The fifth largest planet in the solar 46. ﬂadwﬁz@d DTIe BRT Nx

system is 1) rbdaﬁ&
1) The Jupiter 2) Sonen®
2) The M
) The Mars 3) B
3) Earth
4) 3N
4) Saturn
47. The southern hemisphere of the 47. PRWCH T RACTIPETRY,
earth is called ‘water hemisphere’ "RWOTTOR RACTITE” QOTH
because FOO3NTTE. T ¥
1) There is 81% of water and 19% of 1) 3¢. 81 TR, ROTE B
land 3e. 19 TR, LREPNITIZHT
2) There is 60% of water and 40% of 2) Je. 60 TI, ROTS )
land 3e. 40 TR, LREPONITIZHT
-
3) There is 75% of water and 25% of 3) 3e. 75 d“‘?s BOTO mgﬁ
land 3e. 25 TR LRIPNITIZHT

4) 3e. 60 TR, LN =B
3e. 40 TR, BOTISONTOFYT

4) There is 60% of land and 40% of

water

48. The contact zone of the crust and the | 48. 3R T3y TROCWS® TORET

mantle is RACTWRVTLOR

1) Asthenosphere 1) QABHEIODT

2) Gutenberg discontinuity 2) MEET°WITE RCTIVROOD

3) Mohorovicic discontinuity 3) WDRJATRNAIT RCTIVROOR

4) Lower mantle 4) BROVST FITTH

16
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49. The inner most layer of the earth is
1) The mantle
2) The core
3) The crust

4) The continent

50. The disintegration of rocks without

any chemical alteration is known as

1) Chemical weathering
2) Denudation
3) Oxidation

4) Mechanical weathering

51. The topmost layer of the

atmosphere is
1) Troposphere
2) Mesosphere
3) Exosphere

4) Thermosphere

17

O A O T
49. BRWOP @3603 RN
1) :méoéseﬁ
2) geoTiecy
3) LRI

4) PRDOT

50. 3ANYY CINPYTe TeTIORF

WTORFBCINTIC WTTH BTN
T3

1) ToTRONAT QO CTTED
2) PRINLFTED
3) sNRTE FOSReB

4) 3088 3HDeITD

51. 0030 NRRCST @3503 agdd

Ginle)

1) TORIFIVOTD
2) mc%oédmow@
3) maémocse

4) m%@mowe
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52.

53.

54.

The layer of the atmosphere which is
free from clouds and provides ideal

flying for jet air crafts is
1) Stratosphere

2) Exosphere

3) Mesosphere

4) Troposphere

The method of conservation of

ocean among these is

1) Construction of check dams
2) Construction of coastal walls
3) Dredging

4) Transporting crude oil through

pipelines

Choose the correct list of ocean

currents of the Pacific ocean
1) Kurushio, Oyashio, California

2) South Equatorial current,

Norwegean, Benguela
3) Gulf stream, Labrador, Canary

4) Brazilian current, Falkland,

Benguela

18

52. JRcENLOT mgmw ms_ap e3e3®

RWOINLY TOTITED mgmcs
TOOINRRCST TIT

1) ﬁfme%ﬁooc@@
2) m%@aocg@
3) mwéoédmode

4) TORSEOOTO

53. ¥RYNTY TNT TOTF W 20w

BEOTOTB

1) a%seméomf QTIVEED

2) 3e00Y SEMREBNY AB/IF O

3) TRIHNE

4) 35, FOTW), TRYD TRNAFNY
TROT FNRR)T

54. BT TNCT TONT Temne

ROOIRT TIoPR, &k, SRR
1) BRI, 2W0SVEIR,
aée‘ﬁaixaemom
2) T AXVLPBT XZ Tow®,
DT CRONT TB, LIOTRD
3) NS°RC0, SRWTEOT®, TONO
wed ~ 3

4) PR T®, FOT TROT T,
e3omywe
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55.

56.

57.

The renewable resource among the

following is

1) Manganese
2) Iron ore

3) Solar energy

4) Coal

Accident insurance scheme open to

all Indian citizens between the age
of 18 to 70 years is

1) Pradhana Mantri Suraksha Bima
Yojana

2) Pradhana Mantri Jeevan Jyothi
Bima Yojana

3) Pradhana Mantri Fasal Bima
Yojana

4) Pradhana Mantri Krishi Bima

Yojana

Which of these is a cause for

agricultural distress in India ?

1) Development of technology

2) Uneconomic size of cultivated
holdings

3) Regional dispersonal of industries

4) Adequate credit from institutional

sources

19

55. SRNYY SRFOINTRE HoBRAY

56.

57.

1) :méomex@
2) 63%9@53 Slalen)
3) APTB

4) 5&2(‘%@

PO0SW 18 D0W 70 [IRENSHNINS
QY wéiri@ﬁ BRTBEN WITOT A=W
Sres
1) BEOTR0E RHTTY W™
o3RRS
2) BHOBI0E WeBT WL
Q@D dRexd
3) TETTOY FELY DT
o3P
4) BPOTTOG T I C3RER

0

VRN RTITY o WIYR
TTETRT WOBWRY, T3

1) 2080 _sT @R

2) REYWET LTWITY LR
3) §ONY ST DFTE

4) moﬁgps TRONPOT TINTJED

A0Q
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POLITICAL SCIENCE, SOCIOLOGY &
BUSINESS STUDIES

58. Aristotle, an ancient political thinker

was the student of
1) Strabo

2) Socrates

3) Plato

4) Luther Gulick
59. “Without Administration a
Government is only a meaningless

Chatter” - This is the opinion of
1) Alexander Hamilton

2) Woodrow Wilson

3) L. D. White

4) Paul Applebee

60. The union Public Service

Commission function under the
following article of the Indian
Constitution.

1) Article 315
2) Article 77
3) Article 356

4) Article 320

20

58.

59.

60.

oo mg, smumg

2 3
= = -0
msézsémx
=)

SRR TOWSCOIY WOTTFIONG,
WOTMWOR ART dFJFNTRL.

1) @2&@6

2) AOTEICR®

3) FHeedwoe

4) oRFT® NOF

“BRITAYT TTFTR) e[ 2D
TTEOR BRE” - QO WPTRE®
TEITD.

1) OSMVOBT® TONOT®
~ D ed

2) YR O

3) 278, BT

4) T ST

30T BReE Zewe SC3RINT TORFNREL
PRTBT BODTRT &2 FENT QLT
RO,

1) 3153¢ QY
2) 773¢ B
3) 35635¢ Y

4) 320 3¢ QY
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61.

62.

63.

64.

Karnataka Public Service Commission
was established on

1) 18" May 1951

2) 18" July 1950

3) 18" March 1951

4) 24" November 1950

Identify the wrong pair from the
following.

1) National Commission for Schedule
Caste — 2003

2) National Commission for Backward
Classes — 1993

3) Human Rights Declaration in France
- 1791

4) The Bloodless Revolution — 1688
To which of the following does the

compulsory B.Ed. training for high
school teachers belong ?

1) Skill training

2) Background training

3) Departmental training

4) Pre-service training

“The basic rights cannot be given
to any individual. Every individual

is born with the rights of living and
freedom” — This statement is given

by

1) Rousseau
2) John Locke
3) Montesquieu

4) H. J. Laski
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61.

62.

63.

64.

FROFEIT BReTHeT BAdReny)
m@ﬁﬁoﬁmﬂ as

1) 18 3¢ e 1951

2) 183¢ &, 1950

3) 18 3¢ =W 1951
4) 24 Je TFHoWT® 1950

3YTORIYNEY BTN BROQBVLTH

zé’.rac@oﬁ:ﬁo oo
1) cmegdeoja TOSH 8 wodeen —

2003
2) WOTHYT  JrFTY ToeOD

3030 — 1993 ©
3) TRITRY BRTH JHNY Foewss
— 1791

4) 08 T&3 08 — 1688

T TR é#%@ﬁ TEYON N.AR.
3&3@305:; 3: 3YBOR IR AT
303c303NT ?

1) L0338 STLIeS

2) &3S 3oLed

3) YAy 3Tsed

4) FPBOJR=E 3T

“STIR VTN wsa&n’e;’a 030 0TOR
DETOBINYY. éoi@aa 5,803
wwaomse a&eéappw :»3; *@303533

s%:ﬁeé?b TRATHZVS” - B4 %c@%oﬁcﬁ:
&c@cﬁwdo

1) SRR

2) 2205° ©F°
3) mo&%mg
4) 3.8, TRAE
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65.

66.

67.

68.

“Sociology is a Science of Social
Institutions” — This definition is by

1) August Camte
2) Emile Durkheim
3) Max Weber

4) M. N. Srinivas

The factor considered as the main
aspect of social change.

1) Religion

2) Political

3) Spiritual

4) Culture

Which one is not a feature of
Social Institution ?

1) Universality

2) Fulfilment of basic need

3) Disconnected relationships

4) Having a set of rules

Lack of common measure of value
was an important problem of

1) Hunting and Fishing State
2) Pastoral Stage
3) Handi Craft Stage

4) Barter System Stage

22

65.

66.

67.

68.

“IRTI0L3T mﬂ@m &mwsdc
AS5ewTT " — 83 més%oﬁmel
QRTHTS

1) 8SNRT, 590
2) @53606 B0
3) més: WT°

4) R0. AT, LTV

TRE WHTRRED Thoa), $oBHows
BORSEINTITYT.
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69.

70.

A) Hawkers 1.

B) Peddlers 2.

C) Foot path traders 3.

D) Sandy Sellers 4,

Market knowledge or knowledge
about alternatives is provided to the
consumers by

1) Insurance companies
2) Advertisement
3) Banks

4) Transportation

Match the following and select the
correct answer from the code given
below.

List -1 List - Il

Sell utensils,
plastic things
etc.,

Sell goods in
busy street

Sell flowers
and
vegetables

Sell

locally
produced
agricultural
productions

Codes :

1) A-3,B-1,C-4,D-2
2) A-1,B-2,C-3,D-4
3) A-3,B-1,C-2,D-4

4) A-3,B-2,C—4,D-1
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69.

70.

ODPRENNVR  S5oTH8E m@ﬁ P
Voo BTHNAE Wi 3@:5@930&:534
FOTRT.

1) QT FOTINLD
2) 230&CTOR

3) méoﬁomﬂo

4) oM

semsagne;mez RRONY DIy NI
Bode3nvowm B0 wgdasabol e.-soSa&

VeI E)
wéé -1 w% -1l
A) 33303 1. T3, TP
msmaﬁeéo faaeéamf
msmd
B) 3@5.39m€é 2. BIWOTHLY
msman’e?o d§wa
I03 JTR
mémd
C) d§u® 3. TR sas_op
msmam*o 30T0
msmd
D) K03 SRIRONE 4. %@coﬁa TN
Rt
mémd

BoseIned -
1) A—3,B—1,C-4,D-2
2) A—1,B-2,C-3,D-4
3) A—-3,B-1,C-2,D-4
4) A-3,B-2,C—4,D—1
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71.

72.

73.

74.

MATHEMATICS

If a, b, c and d are co-primes, then
the greatest number that divides

(abed —dcba) is
1) 37

2) 9

3) 11

4) 27

1, 3, 6, 10, 15, 21, .... are triangular
pumbers. The 15" triangular number
is

1) 91

2) 150

3) 105

4) 120

Sanjeev has cuboids of sides 5 cm,
5 cm, 2 cm. Number of such cuboids
required to form a cube is

1) 20 2) 16

3) 10 4) 8

The sum of multiplicative inverse

7 _
of § and additive inverse of ? is
1) 62

63

-8

63

16

9

@

9

2)
3)

4)

24

71.

72.

73.

74.

neds

a,b,c 533_:9 d nsd I -
wQREneend (abed - debajobwd,
PN ﬁaﬁ@ 5093;

1) 37

2) 9

3) 11

4) 27

1,3,6,10,15, 21, %2,3)83 ﬁo&%ﬁ%ﬂﬁ.
BWTY 158003 % ’309323

1) 91

2) 150

3) 105
4) 120

moLeIN TIT 5cm, 5cm, 2 cm
@%*é’oﬁao% WRTNG BSONT TINYS.
QRYNLOT WOTH 5:5&'\%5:9z RITWCTVT
BON3 TING :309323
1) 20
3) 10

2) 16
4) 8

7 —
§d NOOTTT NBRCTD :ns_op —55

9

FOBORT DBREDNY 2RI

1) 62

63

-8

63

16

9

26

9

2)
3)

4)
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75.

76.

77.

78.

79.

A shopkeeper sells an article at 20%
gain. If he had sold it for ¥ 36 more,
he would have gained 24%. The cost
price of the article is

1) 21,200
3) 2 864

2) X720

4) 3 900

If a sum of money triples itself in
12 year, then the rate of interest is
1) 12%

2) 162%
3

3) 12.5%
4) 16%

Perimeter of A ABC is 5x2 - x —-4. If

AB = AC and base BC = 3x?> - 3x — 2

then the length of side AB is

1) x> +x—1 2) X2 —x+1

3) 2x2 +2x -2 4) 8x>—4x—6
5.3 3.5

The simplest form of mn ;"2' n

is mn

1) m3n — m%ns

2) m°n®—mn?3

3) m>—n?

4) mn(m? — n?)

If m + n=-4 and mn =- 192 then the
value of ‘m’ and ‘n’ are respectively
1) 16,12 2) —16,— 12
3) — 16, 12 4) 16, — 12

25

75.

76.

77.

78.

79.

20 LOONRODT|T WOTL w:gwmd 20%
em;%& SRTLTN. WTe mgwsaq T 36
dazadz) Se0TT, CRR) 24% SMHIW,
3 IWIT SROT WS
1) 1,200

3) 2 864

2) 2720
4) 3900

2,00 RRTP) 12 IRETY grbroneorsa
ToY wRH =T

1) 12%

2) 16g%
3

3) 12.5%
4) 16%

20T & ABCOD TH3$Basw
5x2 — x — 4 ¢3N33. AB=AC&3_J‘> B3Rl
BC=3x2-3x-2 ¢T38 AB (RS eng

1) x2+x—-1 2) X2—x+ 1
3) 2x2 +2x -2 4) 8x>—4x—6
5.3 3.5
M -MD 5 gcgeass cr
2.2 )
m“n
1) m®n —m3n®
2) m°nd® —mn3
3) m>—n?
4) mn(m? — n?)

m+n=—45>3_3° mn = — 192 ¢33

FHIN M B N A BS

1) 16, 12
3) — 16, 12

2) —16, - 12
4) 16, - 12
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80. The sum of three consecutive odd

81.

82.

numbers is 219. The middle number
is

1) 71
2) 73
3) 75
4) 77

If a3 = 2, then the value of
3 4 2
=) =) (=)
is
2
[=°)

y
1) 2
2) —4
1
3) 1

4) 4

In the given figure AB || DE,

ABC =110° and |CDE =130°
Measure of |BCD is

A B

110°

130

1) 20° c
2) 60°
3) 110°
4) 130°

26

80.

81.

82.

e RPN X3 ZoLne Ieg
219 83T PP Hos3,

1) 71
2) 73
3) 75
4) 77

a®=2s33

2) -4

1
3) —
)4

4) 4

4045 3ZRY AB || DE, [ABC =110°
=3 |CDE =130°. [BCDos &3

A B

110°

130°

1) 20° ©
2) 60°
3) 110°
4) 130°
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83. In the figure, exterior angles

BAE, |ACD and |CBF measure 2x,
3x and 4x respectively. The measure

of |ABC is

E

2x A

4x

3x

F

2) 60°
4) 120°

1) 20°
3) 80°

84. In the figure,

QT L PR, [TQR =40°and |SPR = 30° ,

Measure of |PSR is

2) 90°
4) 50°

27

83. 3O wordnes |BAE, |ACD ms_oo
CBFR¢ @¢3nw gzbwen 2x, 3x :»3_:9
4x 3338 |ABCe3y 9933

E

2x A

4x

3x

2) 60°
4) 120°

1) 20°
3) 80°

84. 23339 QT L PR, [TQR = 4053
SPR = 30°s%3 [PSRT w¥3

P

N

40
a R
1) 100° 2) 90°
3) 70° 4) 50°
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85.

86.

ABC is an isosceles triangle such that
AB = AC and AD is median to base BC.
Then |BAD is

A
35°
B D C
1) 110°
2) 70°
3) 35°
4) 55°

In the figure, AB ||CD, PQ || SR,
AS||BR, BAD =120° and |SRQ =70°

then value of ‘X’ is

A P D S
120°
X
70°
B C Q ' R

1) 50°
2) 60°
3) 70°

4) 120°

28

85. ABC s:»zgmao $rY,

AB =AC 533_30 AD Bes3csn BC maﬁ%
53;358@&30@58 BADo® @3

A
35°
B D
1) 110°
2) 70°
3) 35°
4) 55°

86. 45 3R AB ||CD, PQ || SR,

AS||BR, |BAD = 120°=>3; |[SRQ = 70°
S8E3 X' 8 8BS

A P D S
120°
X
70°
B C Q R

1) 50°
2) 60°
3) 70°

4) 120°
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87.

88.

89.

90.

The average of six numbers is 27. If
one number is excluded, the average
becomes 26. The excluded number is

1) 26 2) 27

3) 32 4) 36

The median of 7, 10, 12, 15, x, 22, 24,
29 is 18. The value of ‘X’ is

1) 25 2) 14

3) 21 4) 29

A wire of length 100 cm is bent to
form a square. The area of square so
formed is
1) 25 cm?
3) 2500 cm?

2) 625 cm?
4) 10000 cm?

In the figure, AB||CD, |ABC = 90°,
AB =10 cm and BC = 8 cm then
area of AABD is

D < C

A > B

1) 160 cm? 2) 80 cm?
3) 20 cm? 4) 40 cm?

29

87.

88.

89.

90.

3T 50932371%* ToEO 27. WRYNSY 2,080
5033230&&%:0Z IRT3RN TTZO 26

3. BRTIRT Koas,
1) 26 2) 27

3) 32 4) 36

7,10, 12, 15, x, 22, 24, 29 T G083
18333 ‘X’ & B33
1) 25
3) 21

100 cm ngazs 30303’“’4 PHRTTTY
GRNAT &CR RNATN LVORT 239333

QRCERE
1) 25 cm? 2) 625 cm?
3) 2500 cm? 4) 10000 cm?

233w AB|[CD, |ABC = 90°, AB=10cm
=3y BC =8cm ©5E3 AABDCH
DeE

D N c

A > B

1) 160 cm? 2) 80 cm?
3) 20 cm? 4) 40 cm?
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Instructions to Candidates

1. The Question Booklet containing 90 questions and the OMR answer sheet is

given to you.
2. All questions are compulsory, each question carry one mark.

3. During the examination,
* Read the questions carefully.

* Completely darken/shade the relevant oval against Question No. in the OMR answer
sheet, using blue/black ball point pen. Do not try to alter the entry and not to do any stray

marks on OMR Sheet.

* Ex: Ina question paper if SlI. No. 3 is the correct answer for Question No. 20, then darken

in OMR answer sheet shade circle 3 using blue/black ball point pen as follows.

200D 2 @ @ (This is an example only)

4. If more than one oval is darkened for a given question, such answer is treated as wrong

and no marks will be given.
5. The candidate and Room Supervisor should sign in the OMR sheet.

6. Candidate should return the OMR answer sheet only to the room supervisor before

leaving the examination hall.

7. The calculator, mobiles and any other electronic equipments are not allowed inside the

examination hall.

8. English version of the question paper will be considered as final, in case of any dispute

arising out of variation in translation version.
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November-2018 NMMS Genaral Mental Ability Test (GMAT) Paper

Key Answers

Quengion Key Quengion Key QueNs'([Jion Key QueNs;[)ion Key QueNs:)ion Key
1 2 21 4 41 4 61 2 81 2
2 4 22 1 42 4 62 4 82 3
3 3 23 2 43 3 63 3 83 2
4 1 24 3 44 2 64 4 84 2
) 2 25 2 45 3 65 1 85 1
6 1 26 4 46 1 66 2 86 4
7 4 27 3 47 2 67 2 87 2
8 2 28 4 48 3 68 4 88 1
9 3 29 2 49 2 69 3 89 3
10 1 30 1 50 1 70 3 90 4
11 4 31 2 51 4 71 1

12 3 32 3 52 1 72 3

13 1 33 2 53 2 73 2

14 2 34 1 54 3 74 4

15 2 35 4 55 1 75 3

16 2 36 4 56 4 76 2

17 3 37 1 S7 3 77 2

18 2 38 3 58 2 78 2

19 4 39 2 59 4 79 3

20 3 40 3 60 3 80 3
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1 2 21 1 41 3 61 1 81 3
2 1 22 3 42 1 62 3 82 2
3 4 23 4 43 3 63 lor4d 83 2
4 3 24 2 44 1 64 2 84 1
5} 2 25 3 45 4 65 2 85 4
6 1 26 2 46 3 66 4 86 1
7 4 27 1 47 1 67 3 87 3
8 2 28 4 48 3 68 4 88 3
9 3 29 3 49 2 69 2 89 2
10 1 30 1 50 4 70 3 90 4
11 4 31 4 51 3 71 2
12 1 32 2 52 1 72 4
13 3 33 3 53 4 73 1
14 2 34 1 54 1 74 1
15 4 35 4 55 3 75 4
16 1 36 2 56 1 76 2
17 3 37 3 57 2 77 1
18 4 38 3 58 3 78 4
19 1 39 1 59 4 79 3
20 2 40 4 60 4 80 2
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